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sample status

WWyy bkg:
» J11]YY, checking Alpgen parameters

» Jjlvyy (25K), made a stupid mistake on random seeds, have to lose some samples...

WWWW signal:

» Hheft-300GeV_UFO, zero cross-section, maybe not implement h->ww process
»» HeavyScalar, can only produce produce pp>hh
may pass the output lhe to pythia8/herwig to do h decay?

» actually can produce sample by JOs in athena, but the simulation takes much time!
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no progress...
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Alpgen vs MadGraph

© to compare Alpgen with MadGraph, produced some jjyy samples
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Alpgen vs MadGraph (j3yy)
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Alpgen vs MadGraph (jjyy)
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summary&to do

Comparing to MadGraph samples, should i1 continue on Alpgen?
Qualification task:

»» may make some plots and give a talk in a few weeks

weekly meeting



